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BCM 4B 05—COST ACCOUNTING

: Two Hours and a Half

Section A '

* Answer at least ten questwns._
" Each questwn carries 3 marks. .
All questions can be attended:

O}ueraﬁl, C_’eiling 30
Describe Cosf.Sheet._ = o
Distinguish Prbduct cost and Period cost. |

What is muster roll method ? | .

What is.‘On Cost’ ? .l _

What is ﬂexible buciget ?7 e

Explaln EOQ |

What is work-m-progress mean in contract. costlng ?
What is bill of materlal ?

What is primary diStribution of overheads ?

What is job dgscription ? |

What is Abnormal Gain ?

What is basic standard ?

What is angle of incidence ?

What is variance ?

What is machine-hour rate ?

- Maximum : 80 Marks

(10 x 3 = 30 marks)
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o ) Monthly demand of product X - 1500 umts

9 N

Section B

-Each question carries 6 marks.

. Dlscuss dlfferent types of budgets

{ What are the obJectxves of materlal control ?
-Descrlbe' var1ous steps in standard costlng i

_ DIStlIlgUlSh Job costlng and Contract costmg

: . All questions can be aitended..
| Overall Cellmg 30 '

3 Calculate Economlc Order Quantlty from the followmg

L Ordenng, _r_ecelvmg and handlmg cost : Rs. 10 per. order

21

99,

Beferioration and obsolescence cost : Rs. 10 per unit per annum .

Truckmg costs : Rs. 5 per order

'. Interest rate 15% per annum

Storage cost : Rs. 4,50,000 for 90000 unlts o

Purchase prlce of a component : Ks. 169.

"a) Straight time rate.

b __Straight piece rate.

c) | Taylor’s differential piece rate,

‘Rs. 10 per hour Calculate the total earnings under :

- Answer at least five questions. "~

| 'Reqmrement of components to produce 1 un1t of product X:5 unlts' !

Department - | Budgeted { Actual Budgeted | Actual labour
Ov'_erhead Overhead Labour hours hours
50000 48000 5000 6000
B 25000 27000 10000 92000

" C 3461

-

‘Standard output per hour 5, Actual output in a 40 hours week is 220 units. Wage rate per hour is

From the following information calculate Actual and Pre-determined overhead absorption rate :




23. From the follipwin_g data, calculate Units of Abnqrma_'l Gain 1n each process:

a .

Answer any two questzons E

Each questwn carrz,es 10 marks |

24, DISCLISS in deta1l varmus techmques of costmg

" ProcessI | ProcessII| Process III| -
Input mtroduced R 200(5 1 - . -
Output transferred to Next process | ' 1900 | 1600 | 1300
Normal Loss (% of Input) 10% | 20% | -25%
Sectlon C e

when the accounts were closed the followmg mformatlon wab avaﬂable ,

. .C 3461

(5 x 6 = 30 marks)

| 25, What is labour cost control ? What are the techmques of labour cost contro] ?

26. Mr. Bharat undertook a contract No. 501 for Rs 5,00,000 on 1st J uly 2019. On 31St March 2020,

?Méizérial issﬁed to site
Direct lEXp_enses paid.
| Site office costs

Plant

Direct expenses paid at the end

Cost of work uncertified

Rs.

12,00,000

55,000
~ 6,000

10,000

1,000
20,000

Wages paid

General overheads

Cost of sub-contract
Wages accrued at the end :

Materials at site at the end

Rs.

18,000

| 25% of wages

15,000
2,000
5,000

Cash recéived Rs. 2,00,000 beihg 80% of work certified. .

The plant was installed on the respective date of the contract and depre01at10n is to be provided at

10% p.a.

Prepare Contract account.
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27 X Ltd Furmshes the followmg stores transactlons for dJ uly 2020 o

_ Date” o o ' Transactlon
1 o "Openlng balance 200 Umts value Rs. 2, 000
4 | | Recelpt from B & Co 300 umts @ Rs 12 per unlt
7 - Issued to productlon 400 umts -
‘ . 1‘0;_ ' Recelpt from M & Co.. 400 units @ Rs. 14 per umt
_ 13 o Returned by department, issued on 7th July 20 un1ts
16 o Returned to suppher, purchased on 4th July 10 units
19 ‘Issued to productmn 300 unlts e 7 _
| ‘ 22 : Recelpt from N & Co. 200 umts @Rs. 16 per unit |
, 25 : Recelpt replacement of matenal retuned on 16th July 10 umts |
28 B Issued to productlon 300 unlts | | | ' -
' '303'. R 'Shortage in stock takmg 20 umts ﬁ

Prepare the store ledger using FIFO method .
_ N (2 x 10 = 20 marks)




